Zalacznik 3

ODPOWIEDZI DO ZALACZNIKA 2
SZYFR 1

(2, 5); (0, -9); (2, 0); (6, -4); (2, 0); (=5, 7)
Hasto: BRZOZA

SZYFR 2

(=3, -3); (5, 0); (6, —4); (3, 2); (8, 2); (-5, 7)
Hasto: CHOINA

SZYFR 3

(=3, -3); (6, -8); (3, 8); (0, -9); (6, -8); (9, 0)
Hasto: CYPRYS

SZYFR 4

(=7, 0); (=5, 7); (0, -9); (2, 0); (=3, 0); (2, 5)
Hasto: JARZAB

SZYFR 5

(=7,0); (=3, 2); (9, 0); (3, 2); (6, —4); (8, 2)
Hasto: JESION

SZYFR 6

(7,-6); (6, -4); (3, 8); (6, —4); (-3, 4); (-5, 7)
Hasto: TOPOLA

SZYFR 7

(=7,-5); (=2, -7); (3, 2); (-5, 2); (0, 9); (2, -3)
Hasto: SWIERK

SZYFR 8

(=7,0); (=5, 7); (2, 5); (0, -6); (6, —4); (-6, 5)
Hasto: JABLON



